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Note : This paper is of hundred (100) marks divided into

two (2) Sections 'A' and 'B'. Attempt the questions

contained in these sections according to the detailed

instructions given therein. Candidates should limit their

answers to the questions on the given answer sheet. No

additional (B) answer sheet will be issued.

;g iz'u i= lkS ¼100½ vadksa dk gS tks nks ¼2½ [k.Mksa ¼d½ rFkk

¼[k½ esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa

ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ vius iz'uksa ds

mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer j[ksaA dksbZ vfrfjDr

¼ch½ mÙkj iqfLrdk tkjh ugha dh tk;sxhA

SECTION—A

(Long Answer Type Questions)
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Note : Section 'A' contains five (05) long answer type questions

of Twenty Six (26) marks each. Learners are required to

answer any two (2) questions only. 2 × 26 = 52

[k.M ¼d½ esa ik¡p ¼05½ nh?kZ mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, NCchl ¼26½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy nks ¼2½ iz'uksa ds mRrj nsus gSaA

1. Analyze the ecological approach to the study of public

administration.

yksd iz'kklu ds v/;;u ds ikfjfLFkdh; mikxe dk fo'ys"k.k

dhft,A

2. In this era of liberalisation, the difference between public

administration and private administration is now decreasing.

Examine it.

mnkjhdj.k ds bl nkSj esa yksd iz'kklu vkSj futh iz'kklu ds

e/; varj vc de gksrk tk jgk gSA ijh{k.k dhft,A

3. Define development administration and discuss its

characteristics in detail.

fodkl iz'kklu dks ifjHkkf"kr djrs gq, bldh fo'ks"krkvksa dh

foLrkjiwoZd foospuk dhft,A

4. Explain the social environment of public administration.

yksd iz'kklu ds lkekftd ifjos'k dh O;k[;k dhft,A

5. There are some similarities and some differences between

public administration and private administration. Examine

it.
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yksd iz'kklu vkSj futh iz'kklu esa dqN lekurk,a vkSj dqN

varj gSA ijh{k.k dhft,A

SECTION—B

(Short Answer Type Questions)

Note : Section 'B' contains eight (8) short answer type questions

of Twelve (12) marks each. Learners are required to

answer any four (4) questions only. 4 × 12 = 48

[k.M ¼[k½ esa vkB ¼8½ y?kq mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, ckjg ¼12½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy pkj ¼4½ iz'uksa ds mRrj nsus gSaA

1. Discuss the integrated view of the nature of public

administration.

yksd iz'kklu dh izÑfr ds ,dhÑr n`f"Vdks.k dh foospuk

dhft,A

2. Comment on the narrow view of the field of public

administration.

yksd iz'kklu ds {ks= ds ladqfpr n`f"Vdks.k ij fVIi.kh dhft,A

3. Comment on the importance of public administration.

yksd iz'kklu ds egRo ij fVIi.kh dhft,A

4. Discuss the characteristics of New Public Administration.

uohu yksd iz'kklu dh fo'ks"krkvksa dh ppkZ dhft,A
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5. Establish a relationship between public administration and

political science.

yksd iz'kklu vkSj jktuhfr foKku ds e/; lEcU/k LFkkfir

dhft,A

6. Discuss the field of development administration.

fodkl iz'kklu ds {ks= dh foospuk dhft,A

7. Highlight on the importance of comparative public

administration.

rqyukRed yksd iz'kklu ds egRo ij izdk'k Mkfy,A

8. The third phase of development as a subject of public

administration is considered to be the destructive phase.

Comment.

yksd iz'kklu ds ,d fo"k; ds :i esa fodkl ds r`rh; pj.k dks

fo/oaldkjh pj.k ekuk tkrk gSA fVIi.kh dhft,A

*************
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